Directions: Write the rule of the transformation.
) 2} A line segment DE is translated 2 units right

1
and 1 unit up.

A triangle ABC is translated 5 units left
and 2 units up.

I
ABC (X, 4) » AB'C' (X5 Y+2)
3) A square MNOP is translated 10 units
right and 5 units down.

MNOP (X,4) > MND'P' (X+10, Y-5)

4) A line segment XY is translated 7 units left.

Xy (%,y) > Xy (%7, Y)

DE(X,Y)=> D' E' (x*+2,Y+)

Directions: Deseribe the translation.
7) (x.¥)—"(x +3.¥)

P.dicthr %

5) (k. y)—"({x.¥-3) 6) (,y)—(x—1¥y-6)

Down 2

B (ny)—cix-2.y+ 1)

Lef+2 upl

Lett 1 down b

9) (x,y}—(x+4,. ¥+ 0)

e Y, upl

10) (x,y) — “(x=1.y+5)

Lett 1 up 5

Directions: Complete the translation of the new image.

If the translation was described, write the rule.

l"‘hﬂ{.\.\ v)— A'B(x.y—4)

!.-;-.-B:.i

14y Translate 3 units right &
2 units up. %
M

If the rule was provided, describe the translation.

12) CDE (x, y}) — C'D'E" (x = 3,y = 1) 13) JK(x, y) = FK'(x +2, ¥+ 1)
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15) Translate 2# by 4 units left.
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16) Translate | unit right &
3 uniis down.
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MAT (XA > MAT (Xt \+2)




Directions: Find the missing point using the given information.

17} A7) 18) B'(—4, 1)
Rule: (x, y)— ‘(x—1,y-6) Description: Translate 2 left & 1 up.
Find A", Find B.

|
Alz,) 8(-2,0)

19) C(6.-3) 20y Pre-Image: (-5, -7)

Rule: (x. y) = ‘(x +9%.y-1) Description: Translate 5 right.
Find C. Find the image coordinate.
C (-3,-2) (0,-7)

21) Image: (6.-2) 22} Pre-Image (3%,—2%)

Description: Translate 1.6 left & 2.4 down Rule: (x, y) — ‘(x + ;,_}' + 5%)

(7w, 0.4) (2% ,2)

Directions: Solve each problem.

23) Shannon and Meg are throwing a ball. Shannon is standing at (4, -2), and Meg is standing at (14, 11).
What rule could be used to describe the translation from Shannon to Meg? .

(x,y)=> (x+10, y+13)

24) A group of students walk 8 units left and then 4 units up. They then walk 12 units left and 1 unit down.
Finally, they walk 3 units right and 7 units up. What rule could be used to show their both their initial and final

position?

(X,4) > (%17, y+\0)

25) AFED is translated so that the image of D is at (-5, 4). Describe the translation
that has occurred. Then, write a rule to describe this translation.

Upe , Lett 2
(Xf‘d)_a' ( )(";, ‘:j+l‘a)

26) Mi-1, 4) is translated using the rule (x, ¥) — “(x + 4,y — 10). In what quadrant will the image of M be

found after the rule is applied? :
N (qumolmn-‘r "\>




